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Instructions :
The question paper has 36 questions in all. All questions are compulsory.
Marks are indicated against each question.

Questions from serial number 1 - 16 are multiple choice Questions (MCQs) of 1 mark each.
Every MCQ is provided with four alternatives. Write the correct alternative in your answer
book.

Questions from serial number 17 to 29 are 3 marks questions. Answer of these questions

should not exceed 80 words each.

Questions from serial number 30 to 34 are 4 marks questions. Answer of these questions
should not exceed 100 words each.

Question number 35 is a map question of 2 marks from History and Question number 36 is a

map question of 3 marks from Geography. Attach both the maps in your answer book.

e U H 36 YA &1 Wl g Stfame €1

% T % WA e fou o €

YA ShHih 1 9 16 Th h YT Uh-Th 3ich o dg foshedld Ue €1 s U9 o fa 9 fashey fag
MR AU S| Y § Tl faseq 97 R fafau

T I 17 9 29 Toh o U9 G- 37 o 8 | TIeh T 1 SR 80 Va1 9 Afersh Fef B =nfeu |
T Uik 30 W 34 T & U IR-R 3k ok § | YA Y 1 SR 100 W G e & g
=T |

T HE&A 35 Siae | A f-ud 2 31k § SR YeH e 36 il § AHfas §Hf-ed 3 3 H
T S T Rl ST SR & 1Y TR Hife |




1.  What did the ideas of la patrie and le citoyen signify in the French Revolution ?
(@) The motherland and the children
(b) The fatherland and the citizens
©

(d) The state and the community

The community and the citizens

OR
When was the French Indo-China formed ?
(a) 1880 (b) 1858 (c) 1887 (d) 1873

2. Which one of the following is not true regarding the ‘Balkan Problem ?’
(a) The Balkan states were very jealous of each other.
(b) Each state wanted to gain more territory at the expense of others.
(c) The Balkans were also the scene of big power rivalry.
(d) The Balkans were not under the control of Ottoman Empire.
OR

Which one of the following is not true regarding the regime of Ngo-Dinh-Diem in
South Vietnam ?

(a) He built a repressive and authoritarian government.

(b) He laid the foundation of a democratic form of government.
(c)  Any one who opposed him was jailed and killed.

(d) He permitted Christianity but outlawed Buddhism.

3. Why did General Dyer open fire on the peaceful gathering at Jallianwala Bagh on 13th
April, 1919 ?

(a) General Dyer wanted to enforce martial law very strictly in Amritsar.
(b) He wanted to create feeling of terror and awe in the minds of satyagrahis.
(c) He wanted to demoralise the local congress leaders.

(d) He wanted to gain prominence in the eyes of British government.

4.  Gandhiji began fast unto death when Dr. B. R. Ambedkar demanded separate electorate
for Dalits because :

(a) Separate electrorates would create division in the society.

(b) Separate electrorates would slow down the process of integration into
society.

(c)  With separate electrorates, dalits would gain respect in society.

(d) The condition of dalits would become better.

5.  The larger occurrences of minerals of igneous and metamorphic rocks are called :
(a) Veins (b) Lodes () Beds (d) Layers

6.  The largest solar plant of India is located at :
(@) Madhapur (b) Nagarcoil () Madurai (d) Manikaran
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10.

11.

12.

13.

14.

Regular supply of electricity and an assured source of raw material at minimum cost
are the two prime factors for the location of which one of the following industries :

(a) Iron and Steel (b) Automobile
(c) Aluminium smelting (d) Electronics

Which one of the following groups of cities is connected by the National Highway
No.17?

(a) Delhi - Amritsar (b) Delhi - Kolkata
(c) Delhi - Mumbai (d) Varanasi - Kanyakumari

FEDECOR comprised of :

(a) professionals like engineers and environmentalists
(b) leaders of political parties

(c) federation of farmers who did not rely on irrigation.
(

d) confederation of household workers unions.

Which one of the following political parties was founded by reviving the Bhartiya Jana
Sangha ?

(a) Samajwadi Party (b) Rashtriya Janata Dal
(c) Bhartiya Janata Party (d) Bahujan Samaj Party

Which one of the following is NOT a function of political parties ?
(a) Parties contest elections

(b) Parties do not shape public opinion

(c) Parties put forward different policies and programmes

(

d) Parties play a decisive role in making laws for the country

Which one of the following statements does not reflect the right impact of “The Right to
Information Act’?

(a) It supplements the existing laws that banned corruption

(b) It empowers the people to find out what is happening in the government.
(c) It enables the people to become law abiding good citizens.
(

d) It acts as a watch dog of democracy.

In a SHG most of the decisions regarding loan activities are taken by
(a) Banks (b) Members

() Non-government organizations (d) Cooperatives

Which one of the following is a major reason that prevents the poor from getting loans
from the banks ?

(a) lack of capital (b) Notaffordable due to high rate of interest

(c)  Absence of collateral security (d) Absence of mediators
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15. Globalization shall result in : 1
(a) lesser competition among producers
(b) greater competition among producers
() no change in competition among producers.
(d) destruction of large scale producers

16. Consumer Courts have been established at : 1

(a) onelevel (b) sixlevels (c) three levels (d) nine levels

17. Explain the three types of flows with the international economic exchanges during
1815 - 1914. 3x1=3

OR
Who was Phan Chu Trinh ? How did he help in the modernization of Vietham?  1+2=3

18. What were the three local issues in which Gandhiji experimented his technique of
satyagraha during the years 1917 - 1918 ? How were these issues resolved ? 3x1=3

19. ‘Energy saved is energy produced’. Justify the statement by giving any six measures to ,
conserve the energy resources. 6x7/2=3

20. Suggest any three measures to reduce the industrial pollution of freshwater resources.
3x1=3

21. Mention any six factors responsible for the location of jute mills in the Hugli basin. 6x%2=3

22. Explain how the activities of pressure groups are useful in the functioning of a democratic 3
government ?

23.  “Do democracies lead to a just distribution of goods and opportunities” ? Justify your
answer by three suitable arguments. 3x1=3

24. “Democracy stands much superior to any other form of government in promoting
dignity and freedom of an individual”. Explain. 3x1=3

25. Why is there a lack of internal democracy within political parties in India ? Explain
any three reasons. 3x1=3

26. Analyse any three impacts of globalization in India. 3x1=3

27. How can trade between countries be made more fair ? Explain any three measures. 3x1=3

28. Why do we need rules and regulations to ensure protection for consumers ? 3
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29.

30.

31

32.

33.

34.

35.

Note :

36.

Note :

Explain the consumer’s right to choose with the help of an example. 2+1=3

How did culture play an important role in creating the idea of the nation state in
Europe ? Explain.

OR
What was the role of religious groups in the development of anti-colonial feelings in
Vietnam ?

How did Gandhiji convert the national movement into a mass movement ?
As an industry, how has tourism a bright future in India ? Explain.

In which four ways has multi-party system strengthened democracy in India ? Explain.

4x1=

Why should credit at reasonable rates be available to all ? Describe any four reasons.

4x1=

Two features (A) and (B) are marked in the given outline political map of India. Identify
these features with the help of the following information and write their correct names

on the lines marked in the map. 2x1=

(A) The city were the Jallianwala Bagh massacre took place.
(B) The place where Indian National Congress made a call for complete independence.
OR

Locate and lable the following items with appropriate symbols on the same map.  2x1=

(i)  The place where the cotton mill workers undertook a satyagraha.
(i) The place where indigo planters revolted

The following questions are for the BLIND CANDIDATES only. In lieu of

Q.No. 35 Answer the following questions. 2x1=

(35.1) Name the place where Indian National Congress Session was held in 1929.
(35.2) The place where the movement of Indigo planters was started.

Three features (A), (B) and (C) are marked in the given outline political map of India.
Identify these features with the help of the following information and write their correct

names on the lines marked in the map. 3x1=

(A) Mica mine
(B) Software Technology Park
(C) Sea Port
OR

Locate and label the following items on the same map with appropriate symbols.  3x1=

(i) Kaiga : Nuclear Power Station
(if)  Bhilai Steel Plant
(iii) Raja Sansi Airport Amritsar

The following questions are for the BLIND CANDIDATES ONLY, in lieu of
Q. No. 36. 3x1=
(36.1) Name the eastern terminal station of East - West Corridor.
(36.2) In which state is Narora Nuclear Power station located ?
(36.3) Write the name of the state in which Paradip sea port is located.
-00o0-
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1. ‘e’ oiR ‘ot fad’ fomm widit shif<a o o gwiia € 2

(a) G gfH R T (b) Frgyfh ik i
(c) THE AR AR (d) T 3R TR
3teran

T T8 ATSHl 1 T3 el gl o ?
(@) 1880 (b) 1858 (c) 1887 (d) 1873

2. Trfafed § @ wF o1 FoH dohd 99 & < § g @ ¥ 2
(a) TR T TR 1 ohd &
(b) THH ToF GHL I SiFd R AT & I 91Rd o
(c) ek HRRIfKIA! <t Wl 1 ged ot &
(d) STeh AR FHd & = § 78 o
Srrar
frefafed # & o0 <fao foaam & =i o foum & omem & vy § 9 766 €
(a) 3T THTRRT AR FRET TEHR T TG FY
(b) I AlhAT=h YRR i TR i id @l
() ToEm ot 3ot fadiy foran Swent Sl ® Sren T o7R /R fe=n e
(d) SHA TEEERE S SIHA & T e T Rl IR St T

3. 13 3TUc1 1919 I SR SRR A Siferidre an | wmf<qui e W et =i e ?
(a) ST SRR STHAHY H ARIA & ol &l § TR LT drear o |
(b) o8 HAWfEdl o foum # eTde oiR w1 U1 et =mean o |
(c) I8 TAFT KU A1 b1 HASA qre1 =medl ol |
(d) o2 fofest TR 1 7@l § Hew T heA1 dredl o |

4.  TSH A L A SR, TIEH N Iferdl o T e Fated &5 A W ST e Y%
foram; =11 o
(a) 3T fated & T § fadse der sam

(b) 3T HaT=M &9 THIS § TR o UfhaAT i T(d ol ETHT B3l

(c) 3Ter fHaf= &3 | 9H | Sferdl o1 §HH S

(d) <fodi =t feafa & ger 2m

5. S SR ARG 9gHi B WSl % g8 STHE hl HEd § -
(a) T (b) SHE (c) H&R d) T
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6.  VRd 1 Y TSI WR Sl G feord § -
(a) HTETQUH (b) TR H (c) WIEH (d) wforRTor |

7. Toswel =t frafaa smgfd aen <A W w= 9 w1 ffved s fefafed § 9 e sem
i erafefa & fau vq@ R € ?

(a) WREARTEE  (b) W FR () THMH Tem  (d) soaeied

8. Trefafed ® 9 &M & el #1 St T TSHF A, § A JST I E ?
(a) gl - ST (b) e - Frowa
(c) <=l - gig (d) SRR - HRAFHIR

9. ‘Tesi’ (FEDECOR) ¥ 9 :

a WWW@@W
b) TSR 9Ifedl & a1

) Torami o werds S f=m w v =& 9
d) wiiaier Asigy HHl w1 e

(a)
(b)
(
(

10. frfafed # § ford @1 S TM9AT YR SEE I Ao ik ol T8 off ?
(a) HHSIETET G (b) T S T
(c) R SHdT uret (d) =ESH GHS Tret

11. fr=fafed § & oF @1 w6 TsHifdw 9t & & € 2
(a) TIfEA A TS |
(b) IféAt SHa FHToT T e |
o) wiféai fafvm e ik wriwH wqd wdt S
d) e <91 % fore A e | foae yftee fw 7

12. frafafed § @ S @1 %A go T & IfisR’’ & F& g i T guiar ?
(a) IT YER W Giaare @ aTel A Al Sl G0 ¢ |

b) I% AN I TE S & feTT Tere oTan ¢ for TR ® 1 &1 W@ ¥

) I AN hl A HIFA AT TS AN S & |

d) 8 Wikl % fIT Tk Yedt 1 S Al 2 |

—~

(
(
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13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

et T Hemd ae o o gt nfafafei & stk foig fod 9 €
(a) Sl gR (b) e BN
() TR WHR deenshi g’ (d) HeHRI Wiafa g/

frefafaa § @ =F 91 wRo Tl Sl Sl 9 SR I i O Aehdl © 2

(a) TSIt @l A (b) AT sl el Tk HN
(c) Tl FOTER T A B (d) TR &1 A B
SeTeRToT ST TfROTH BN

(a) SR o o= HH Yfqeadr

(b) <SS sfere e

(c) eI o o= gfeast § i e T2l
(d) = ScEH 1 o

YT STRT TTad i T8 €
(a) TH TR N (b) B: T W € THTIR d) TR

1815 - 1914 & INH TIa nfdfew faftva g1 & W 9 YR & Yol sl A

I | 3x1=

3T

T g g B o 2 3 faudm & eyt | fRe YR Herd i 1+2=

1917 - 18 % XM U HF F 0 T e & 57 W mifist 3 Tome & 3+ deheie |
AT fRU | 59 R ol ohd Gere T ?

el ST Sl Scaifed HEAT B SH e i g B il GETEAl o WG & hlE 9 ST
IS

6xY2=

TS T o SHEA 9 SAENTTeR Yguon 9 S % g o ST G | 3x1=

e et % 7 W 92 el @i sraferfa & foe Swert fhgl ©: SRl &l Seeid hiftg |

Ta19 TRl i fafatiai fRE Aredth TR S SRyt § R YRR SwEnt @ € 2
AT T |
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23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

‘o iR B gl iR STaERi 1 =Eifad faaRer & U € o S| i gfie § diF

YT T ST | 3x1=

" SireRa, AT i TRAT 3R =1 o g o # ford! off 3171 TR i TR ¥ 950 I8
1" men it |

UG | USHIfdeh gall § SATeh clehd=t sl AT 1 € 2 Tl i1 SRl &l T Hifey | 3x1=
IRA § Yol o Tl i1 gmal o1 fagervor sifsr | 3x1=

T o o= AR o fhd TR 31feh Sieat s S Hehdl € ? foheel alienl ol Twemsd | 3x1=

B SYierT GReToT ki ghafved s & fore fremi iR fafradi ot savaehar =i &t § 2

YT o =91 o SATIHR ot AR TRl Teh IR0 §RT hifSy | 2+1=

Y H I - T w1 fomm fafdd e o wenfa 9 fhe yeR qeergul ufte fag 2 s
RIS |

9T
forram § frafarstieno o faerd drerel & faem 4 aifties Tel ot o fieh off ?

TS 7 UL A< Y SHef<eH | aiafdd fear 2

T 1 Uk 3T &% T H 9Rd H ufgsr 54 =9t § ? A Hifg |

IRA H Tha—=1 I b IR alienl ¥ ageeitd Yumel 5 ASied foha € 7 e st | 4x1=

Tereh U /0 9ok T <0 W i SuTsd BT A1feT. ? TRl TR RO 1 9uiF hifew | 4x1=

feu gu wRa & TerHifaen W@ 9 o 8§ 91 fauiand (A) ok (B) Wafsm ot € 1 &
TR i el 9 39 fagiansti @t uear shifay 3iR 9 fo ® faf=a T@nedi = s ==t

am fafaw | 2x1=

(A) € T Wl STicriieTet s shi gHe g8
(B) o8 TM SR WA U ¥ - quf Tore=Idl o fere smmgam fohan
Jrar

feu gu Arfes W & Frfeied s guisd ot e we 7 fafag | 2x1=

(1) % I Sl gl wae fiel & #eigll 3 weanE foan
(2) 9% T 5@ el S Wl HE a1 fage fh
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e frefafed v St gficd= aRenfo=i & faw g7 o 35 & TWH W T | 2x1=2
(1) 9 WM o1 99 fafee Sel 1929 § vRdE T g™ 1 STHase e o |
(2) 39 TIF 1 T fafen Sl el 6t Wt wE arel w1 AR ¥e g3l o |

36. faUgU wRd % TG W@ gHfe W dF favmamd (A), (B), (C) R fafea #I R & 1=
TE SRR i Ferrdl 9§ 37 faRroareti ohi ue= sifeg 3R gt | fafea T@neil w 37 9el
W‘%,ﬂ-\@-q I 3x1=3

(a) AYH TEH
(b) WTHRAI TS qh
(c) T 9
3rerar
feu gu AHfa | & frafafad &1 Suga Fahdl gRI guiEsd $ik 37 Wt AW fafaw | 3x1=3
(1) T - BT Sooll T
2) e - e 994
(3) TSI Wi (STYAE) G T
e : frefafed wed shae eftefe? wianfrdi % foe 9o i 36 o TM WE | S| ST |
(36.1) 4 - ufvem @R 1 gei Si o €H %1 9M fafay | =3
(36.2) HIF T H TR St g e € 2
(36.3) 34 T &1 4 fafae Sl arey a9 9o fem © o

-00o0-
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Question No. 35

)IA: - POLITICAL AND ADJACENT counmlss

“ﬂﬂ-ﬂfﬂ% 3t aged Ao

1 _ i S 1

) T TT T T ~T T - T T
v o ) pa e o0 B s = o6 100 1044
} o
e 1 N

,--)/
t-..._,_.'._z )," 3

r i
FALS

ponSunmyoﬂMlnMapumhmopnmissmdheSquuGsmral India; . .~l©A
wnalmdmmmmmmamummmmmm buehe b i
MWMWPM&M Blw&.hammd Madmﬁadm&mmhmmbomveﬂﬁedbym % Pmﬁ:_ B

rents concetnad. -
mauwmmmmhmhummmmmmm mmmmﬁm)mmi bt.llhasyatmbuvem lNDlAN BOOKDEPOT(MAPHOUSE)

Wmmmﬂlmmm%mwmhﬂmﬁl%mmwm-
! of Chandi ‘Haryammmqahmmumﬁgam

of India, Dehra Dun.

" {Lettor NO.TB. 861/62-A-213 Damdsrsfzooa)

2697, Bﬂhadurgam Road,Delhi-110006.

087/X/SA2/11/A1 11

Printed by;:-AF'raka'sh Oﬁs'etjPﬂr'rhé(s_r m -,




Question No. 36

“Equ- POLITICAL AND
T 1 I

!

el o - a
B & . ki

ADJACENT COUNTRIES (§ Mo2L |
T I
; "

1) T T T
2 R 84° - 72=L}7;:::--“-\_ 76° a0 % 96° 100° 104°
) (T

76°

1.Basad upon Survey of India Map with the parmission
2. The territorial waters of India extend into the seatoa

Governments concerned.

of the Surveyor General of India.
distance of twelve nautical miles measured from the appropriate basalina.

4, Tha boundary of Meghalaya shown on this map is as interpreted from the
5.The External Boundary and coast-line of India shown on this map agree with the Record / Master eoj certified by the Survey of India, Dehra Dun.
6.The ini + quarters of Chandigarh, Haryana and Punjab are at Chandigarh,

3.The interstate boundaries between Uttar Pradesh & Uttarakhand, Bihar & Jharkhand , Madhya Pradesh & Chhattisgarh have not been verified by the

North-E: A (R isation ) Act, 1971, but has yet to be verified.
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